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However ink is not fit for kneading - K177 1293 92 IXDT 197 DaN

Overview

The 2wy stated that one may not soak ink', implying that by ink, merely soaking is
forbidden without actually kneading or mixing the ink with water. »aX speculated
that even °01° "1 who requires kneading the flour in order to be 217 (merely pouring
the water is insufficient), may agree that since ink is not a kneadable substance,
merely placing the ink in the water 1s sufficient to be liable for kneading.

mooIn anticipate a difficulty:
= WYY IN D2XD 1NY NOYAIN 1917 D99 DINVYN DI (owr 5,0 971mp) 1PPPD72 N33 9INT RN

And this which "% 12 Yy 1 said in PpYTR 2 P9, “all oils are good for ink’;
a query was presented, did 2"2>7 mean the olive oil is best for kneading the ink,
or SmOking2 the ink. It seems from that X713 that the ink is kneadable —

mooIn responds:
= N1IYYA 29999 13991 D12%) NN NIN D129) NPT IND

It does not mean actual kneading, rather this term %12%% used there means
merely mixing the charred ink with oil.

nooIN asks:
- NIN DY) 93 INDT (w1 3,mp 41 NN D93 INT *J00 XN 9NN ON)

And if you will say; but regarding j072, which the X 13 states in the last P99

that it is not 2% 23, -
- ey Ty 22N 1N NN 2291 Y0’ 229 ONN YNINPY

But nevertheless v''72 3''9 states there that he is not 2% for placing water into
707 until he kneads it —

mo0IN answers
= 19993 %90 NIN D129 93 DAN D129 92 1ONT 9INP NNP 22X DNNT 990 U

And one can say; that there regarding j071% the X713 meant to say that compared

" Ink here is referring to the materials from which the liquid ink is ultimately made.

% See *"w there 7237 71"7, that the oil is used for two processes in making the ink; one is to smoke glass till it is
charred, the charred part is scrapped off and mixed with oil. "2 said that olive oil is the best . The &3 queried for
which of these two processes (charring or mixing) is olive oil best suited for.

3 1071 is some sort of coarse bran which is used for animal fodder.

* The question is, from our X3 it seems that according to *"32 *"9 since 17 is 2127 72 WY he is 27 just for pouring in
the water, but regarding 7071, which is also 212°3 72 %> (like 17) *"92 "3 maintains he is not 21 unless there was 912°).
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to flour it is not 123 72, however it is more 912% >3 than ink’ -
= PIN NI D99 "N NY 6’:1151

So therefore the 7723 does not bring proof from there regarding 1°7 here.

nooIn asks:
=Y SN}:\D’P (ow 3,25 91 NN P99 NN 99NT XN 7\’)‘19)311 by NYP 1NN

And from the X712 here there is a difficulty for the one who ‘explained’ this

which X1°27 taught in 7%%2 207 in X027 P95 that X»wsp is permitted, so the wnon
explained -
= NI D129 92 INDY DININ 2520 99NN PITVD 19INT D 1INV 139N

That this means when we put water into the X»u’p in order to seal the oven all

around; it is permitted, since X»1p is not 12% 92, This concludes the won.
- 9’5\? 290 NN 9129 92 INDT 219197 NATINT YIYN XM

However from here it seems that on the contrary that for something which is
not 2% 72 you are more liable even without 1201 —

moon offers his explanation of the X773 there:
= 192520 NN PIIYY D NV MY NNV W9 W NON

Rather we can explain that 9w X»w» means it is permitted to seal the oven all

around with X»wsp, but without water; seemingly this is obvious, so M901n concludes -
290 0192 5237 AV 19998 NIT )9 ¥Un NP

And X1°27 is letting us know that we do not make a decree prohibiting it, out of

concern that maybe he will be 23% (meaning pouring water into it) on @'Y to make
a better seal.

Summary
The less something is kneadable the more reason to be 21 with only pouring

without mixing. 70717 is less ?12°3 172 than nnp, but more than 7.

> Therefore by 107» we understand that "2 *"3 maintains that it requires 912° since it is somewhat 212°3 9.
However 1°7 is completely 712°3 1287, therefore *"12 > may maintain that mixing is sufficient to be 2°n.

® With this we can answer another question; how did *»ar want to say that since 1°7 is 712°3 92 X7, therefore >"12 "1
would agree that he is 2»n just for mixing, when we know that regarding j07 1, which is also 71223 92 &Y,
nevertheless >"72 "9 is not 211 unless he is 223, The &7n3 did not ask this question, because it knew that 707 is
more 712° 12 than 7.

7 See *"wA there who writes; X177 2123 72 IR9T 12 MuH1 12239 9w RALRY.

8 Xnvp is ash. One is permitted to seal an oven with Xnup.

? We concluded that 7 is less 212°3 12 than 1077, We see that by 7077 (which is more 9122 72) we require 12% in
order to be 21 (pouring alone is insufficient), but by 17 which is less 21223 72 you are 211 even by pouring in the
water without 712°3 or mixing. How can the w191 say that we can put water into the Xav°p, since R»vp is certainly IN?
912°3 73, even putting in water should be forbidden like 7. See “Thinking it over’.
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Thinking it over
1. Is there any connection between N0 opening remarks regarding 131 2°3w: 93,
and the subsequent XN oX) regarding 70N ?'°

2. mooIn ask on the 'w1dn', how can he permit Xp>W because it is X7 212°3 12 WY,
when here we say that %12°1 72 XY is a reason to be 2r."" Perhaps it is possible to
answer that at a certain point something is so much 12°3 12 X (like ashes) that
there is no way he could be 211 even by pouring or mixing, etc.

10 See ' Hw naw.
1 See footnote # 9.
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